EARAROBEEIERT — 2 N— IBISH —F

20185128310 (B) 16EIA3#6H

IGB > %—#% C21314

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[AE<] 1 7% :1,000,000 § 2 7&:400,000 § 3 #&:250,000 4

4 7% 150,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. S : 4 4 | AHEE 1:16.2 6-4 38.9 — 3 476 | LTEE (KFH)
1111 | PvxdF—T7>=F 56.0 =) 3 |HXE
RiHTIRIAT BT T—N— b EE &
o s - EIHEER :16. = . — BRE (KH)
2 3| AN I A—I i 6 i 1(71%2 1-1 39.2 7 (:?:) =EE—
AN w1 =7 BRCFaH-I e
= = B4 | EEEX 1:16.9 10-9 39.1| — 14 | 484 |EEER (K3H)
3 4| T7NEANEXTT 54.0 (3 1/2) Ga) | R Tr—ZpEYar
R:v2RUYIYZXIZX B:h—w>TULER BHRE# IXF477—L4
i .. s 3 | MRERESE 1:17.0 12-12 | 38.8| — 2 407 | EEFFRZ (KH)
4 5 J—=JILF 'y X 54.0 (1/2) (-9) EARME
29T bA—T7—FK-—F B:H>I+T7—F%y X BORMS
RN N 4| BEE 1:17.1 8-6 39.5| — 10 | 493 |MRE (KH#)
51714 7721 =7 e (172 o |mERE
L:xrinao— B:YINILT I HREFHESS
A o4 | BEARE 1:17.2 3-2 4.2 — 1 443 | FEEZ (KFH)
6 7 TIJ AR 56.0 (1/2) (-5) AR
RL:h>rz— B:IT7ELF—F B (ER
-2 4 3 | EEER 1:17.5 7-8 40.0| — 1 407 |WTEZ (#648)
718l16| V> E—K=7 54.0 1 1/2) wra) | BIER
L:70F—=v B:iwv¥Uvyia KBE a1 75
- N ABEX : - — RHBEE (1)
817!/13 IXZILR A>T e 54.0 1(’11/72.)6 6 403 S (4_574) =i 5
STAWNTTFY— B:T7T—FT7Y R Bllikae]
i > . 4 3 | BBXS 1:17.7 12-11 39.5| — 8 483 |UBEER (KH)
95|10/ 77>77vE 54.0 7€) +2) A
L4 0 B:a-J7€¥71)X Ar A R
5 4 5 | MR 1:17.8 9-10 4.0 — 15 | 499 | ARELE (/)
Eﬂn HFET> 56.0 (1/2) 1) | RABE—
LEILTINIR B:YTHIS5yFa B F*
S H S B3 | BEHE—ER 1:18.0 14-14 | 39.5| — 6 447 | BRA—SR (KH)
11|5]9 |/ N\TANDZ 54.0 (3/8) 4a) |¥TTLD s
LHTIRIAY BNFRS T HFAYREy K
S5, o 43 | HleR 1:18.3 5-5 4.0 — 4 | BER (KH)
12 12/ —F—Ya> 54.0 (1 3/4) (+4) | KBS
R:ARTA I Biv—vI> me %A
- N =H 1:18. 2-2 41. - 423 | BHEZ (KH)
13¢M 8| 7ILF v SR 5 (18)5 ° ’ (_63) g
R:T7RI( YTy 7R B:7A4)yYa3IXb kx FE
ST o 43 | WHRRE 1:18.8 15-15 | 39.8| — 13 | 433 | ZEEEAL (fafR)
14/ 8|15 3 —/v7 >~ R/NH 54.0 d 1/2) 4 |ETE
g AFIH ML BT ET I FR=F T T — I
3 3 5 4 3 | WL 1:19.0 16-16 39.6| — 12 472 | BHBB (S
15|12 | 3VX/ ¥ 54.0 (1 1/4) o |EEBC
H RN Y L= BACTAT T AN KRB
5 S B4 | EAE 1:21.5 1-13 | 43.5| — 16 | 435 | &M (1)
16l 6| *FTAT>a 4510 (519 Cy | ) BETE
L:b—tPkvLRY BEI/LRM2ay USCIE->/S
@ 1—F—@&BIEf
13—7—
23—7F—
G§a=7r= 3,8,7,13,12,1,16,14,11,4,6, (5,10) ,9,15,2
41—+ — 3,(7,8),1,12,(13,14) ,16,4,11,10,5,6,9,15,2
[ RN
B OB 1 470M 714K 1-3 910M e & 1-2 3,390M &R 1-3-4 58,200M
% B 1 170 1-4 4,010M | | # H 1-2 6,440/ | | 3:EE 1-3-4 223,890
3 430M 3-4 6,420 B E 1-3 2,730
4 1,610 B H 1= 4,800M

ABICOVWTRDTEEERROODE. TR LIV,




